< E s s s s s
O oo oo oo 0.085

TRTENET AT
.
.

0.08

L1
n
i

0.06+ . : : : : 0.075 ot

AICER NS WS WS W N O ] W
L A B

) e S e S 1 e

=
[~]

' 0.085 “rgrrrrrgprr g

=— DQM_V0001_R000000001__Global_mkFit_baseline

—e— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000
n: : —— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000-2
1 e S pRRSERESIERY PESEEREEEESS T T

1T 2 3 4 5 6
Efficiency vs. cut on dz(PV)

Ratio

........................

=
||'_\||




	Contents
	Page 1


